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15. a) y = 30000 - 1 1 5 k
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1 6 . f a .f l i t b . f i ) = - 2
2 a . 12-1 b . I = 6

a - b = - 2

- a - b -

2 6 = 8

b. = 4 , a = - 2 - 1 b = - 2 + 4 = 2

( a ) b ) = ( 2 , 4 )
-

1 7 . X?-6×2+5× = 0

× (X2-6×+5) = 0

× ( X-1 ) ( X-5 ) = 0
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18. a = 53.% = 53. 53.65 = 3 . S5
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354 E a <485< 7g⇐a
19. a l Ex + ¥-4¥ = o

4x2=9⇒x=±

!

=±3

!

b l ¥ + ¥-1¥=
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←
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c) f
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(0,4) ⇒ K-C-1 ) 1 - 5 1 = 4 ⇒ K-_¥

f-I N =

!

( x - 1 ) Cx-5 )

d)6.fi/=6.4=24-#-t'I--48=Nej
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C3995t5T=16.1--b)2XCx2-25I-=

#!!
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=

!
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24 . a ) 5(2th[

!

=

!!

2=20-54-1

b15Hth[

!

=w×h

!

=
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2 5 . t a x ' ⇒ t ? × "

E - t = 2

É - t - 2 = 0

E t t 1 ) ( t - 2 ) = O

t , = - 1 ( f a l s k lösning)

t z = z ⇒ x = ±

! !



26.tt#--YjfL--
f=I-
Z7.y=k(xtz)CX-3)

( X - 8 )

( 0 , 24 ) ⇒ k r 2 - f - 3 ) f - 8) = 2 4 ⇒ k=É

y=f(×-1214-3)(x-8)

y= {(×-1211×2-11×-1241=121×211×724×-1

+ 2×2-22×+48) = {(×?-9×2+2×+48) =

=tzx3-qxt-X-24-sla.b.c.la/
=#-zF



2 8 . a) g . 32×+1,

I . 32×+1=30

32×+3=30
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X=-
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t - I z t f I I I -5 .t t
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!

#

t

$

3 = 7 × 2 - - 2 7
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!

±

$"!
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!

X ,= -£ , Xz=}
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!

"

!
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!

2
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! !

x t

!



3 8 . 40115-X)2=100×-840

9000-1200×-140×2=100×-840

X2-32.5 X t 2 4 6 = 0

X-tb.IS#V264F=6.25/kg-r

3 9 . y = c . a "

a " = 0 .5 ⇒ a =
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!
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!
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=
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-



40. f-A t h ) = É ⇒

fHh[

!

=Éj

!

=À

!

À=-¥#

-

"

:n

""" !!!

⇒ A n t a l k v a d r a t e r =

2 22-1/2-112 = 5
g
) + + g . , , , , , ,
4 421-(4-1)? = 2 5


